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Problem quickname: 2601

1)

7 Quick:
2601
Calculate the result.

a) (—2.01) — (+1.33) — (—15.93) = —2.01 — 1.33 4 15.93 = 12.59
b) (—=16.57) — (+0.37) — (+2.72) = —16.57 — 0.37 — 2.72 = —19.66
¢) (—0.22) — (+0.73) — (+14.11) = —0.22 — 0.73 — 14.11 = —15.06
d) (=3.22) — (+1.66) — (+8.87) = —3.22 — 1.66 — 8.87 = —13.75
e) (49.09) — (+19.34) — (+6.95) = 9.09 — 19.34 — 6.95 = —17.2

£) (—15.14) — (40.78) — (+2.83) = —15.14 — 0.78 — 2.83 = —18.75
g) (+3.18) — (+2.4) — (—17.7) = 3.18 — 2.4 + 17.7 = 18.48

h) (—15.45) — (+1.45) — (+0.33) = —15.45 — 1.45 — 0.33 = —17.23
1) (—5.39) — (+5.6) — (—1.86) = —5.39 — 5.6 + 1.86 = —9.13

i) (=9.47) — (=0.13) — (+10.52) = —9.47 + 0.13 — 10.52 = —19.86
2)

Quick:
2601

Calculate the result.

a) (—0.99) — (0) + (—0.01) — (0) = —0.99 + 0 — 0.01 + 0 = —1
b) (—0.27) + (=0.21) + (—0.06) — (+0.24) = —0.27 — 0.21 — 0.06 — 0.24 = —0.78

¢) (—0.32) — (+0.06) — (+0.23) + (—0.18) = —0.32 — 0.06 — 0.23 — 0.18 = —0.79
d) (=0.12) + (—0.04) — (+0.38) — (+0.18) = —0.12 — 0.04 — 0.38 — 0.18 = —0.72

e) (—0.62) — (—0.88) — (+0.66) — (+0.05) = —0.62 + 0.88 — 0.66 — 0.05 = —0.45
£) (=0.45) — (+0.01) 4 (=0.1) — (+0.12) = —0.45 — 0.01 — 0.1 — 0.12 = —0.68

g) (=0.51) — (+0.13) + (—0.09) + (—0.16) = —0.51 — 0.13 — 0.09 — 0.16 = —0.89

h) (=0.13) — (+0.05) — (—0.45) — (+0.98) = —0.13 — 0.05 + 0.45 — 0.98 = —0.71
i) (=0.94) + (—=0.01) — (—=0.18) — (+0.1) = —0.94 — 0.01 + 0.18 — 0.1 = —0.87

i) (=0.76) — (+0.03) + (—0.02) — (+0.01) = —0.76 — 0.03 — 0.02 — 0.01 = —0.82

7> Quick:
2601

Calculate the result.

a) (—7.196) — (+1.444) = —7.196 — 1.444 = —8.64
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c) (+0.473

d) (+2.312) —
e) (—5.213) —

f) (—2.122) —
g) (—3.638) +
h) (4+5.433) +
1) (—0.643) —

i) (—5.756) —

4)

b) (=3.571) +
) =

Solutions to smp-2601-3/GJZM

(+1.028) = —3.571 + 1.028 = —2.543
(—0.675) = 0.473 + 0.675 = 1.148
(+3.801) = 2.312 — 3.801 = —1.489
(—5.388) = —5.213 + 5.388 = 0.175
(+5.563) = —2.122 — 5.563 = —7.685

(+0 446) = —3.638 + 0.446 = —3.192
(—1.7) = 5.433 — 1.7 = 3.733
(+1.105) = —0.643 — 1.105 = —1.748
(+3.354) = —5.756 — 3.354 = —9.11

Calculate the result.

a) (+25.779)
b) (+36.669)
c) (+47.964) +
d) (4+26.854) +
e) (+42.728) —
f) (+4.759) —
g) (+33.476) —
h) (4+25.027)
i) (+41.124) +
j) (+20.184) +

+ (—38.102) —

(+12.049) = 25.779 — 38.102 — 12.049 = —24.372
(+48.152) = 36.669 — 34.924 — 48.152 = —46.407
(—1.302) = 47.964 — 30.439 — 1.302 = 16.223

+ (—34.924) —
(—30.439) +

(—22.871) + (+14.339) = 26.854 — 22.871 + 14.339 = 18.322

(+40.028) — (+23.405) = 42.728 — 40.028 — 23.405 = —20.705
(+41.723) + (—9.934) = 4.759 — 41.723 — 9.934 = —46.898
(+41.854) + (—31.055) = 33.476 — 41.854 — 31.055 = —39.433

+ (—12.986) —
(—42.376) —
(—20.892) +

(4+0.138) = 25.027 — 12.986 — 0.138 = 11.903
(+15.119) = 41.124 — 42.376 — 15.119 = —16.371
(—40.873) = 20.184 — 20.892 — 40.873 = —41.581

Good Luck!
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